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QUESTION 1

What are two characteristics of cloud computing? (Choose two.)
A. customer-owned equipment

B. measured service

C. resource pooling

D. unrestricted public access to all resources

Correct Answer: BC

QUESTION 2

Which statement is correct about overlay network?

A. An overlay network requires an OSPF areA.

B. An overlay network must have switches interconnected in a spine- leaf implementation
C. An overlay network uses tunneling technologies

D. An overlay network requires the CLOS architecture

Correct Answer: C

QUESTION 3

You are deploying a layer 3 underlay network with 10,000 devices and hosts. Which two statements are correct in this
scenario? (Choose two.)

A. Loop prevention is provided by the routing protocol
B. Routing table can become very large

C. RSTP can be used for loop prevention

D. The MAC tables can become very large

Correct Answer: AB

QUESTION 4
What are two reasons to use a vMX over a physical MX Series devices in your deployment? (Choose two)

A. A vMX provides more routing features.
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B. A vMX accelerates adding new services
C. AvMX has a lower barrier of entry
D. A vMX increases analytic capabilities

Correct Answer: BC

QUESTION 5

Which two data models are supported for the Junos Telemetry Interface (JTI)? (Choose two.)
A. Azure Application Insights

B. Native Sensors

C. Amazon Kinesis

D. OpenConfig

Correct Answer: BD
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